Algebra 1

Lesson 9.1
Add and Subtract Polynomials

Warm-Up
Simplify each of the following expressions.
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Example 1. Rewriting Polynomials . rerr  DECTR s
Polynomials should be written with exponents in decreasing order. BfeaaesT TCLM u(-a{\ I

Write each of the following polynomials this way and identify the -
degree of the polynomial and leading coefficient. Degree of Polynomials:
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Example 2. Identifying and Classifying Polynomials
Tell whether the expression is a polynomial, If it is, rewrite the polynomial so exponents are in decreasing order, find its degree and
classify it as a binomial (2 terms) or trinomial (3 terms).
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Example 3. Adding Polynomials
Find the sum by combining like terms.
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Example 4, Subtracting Polynomials
Find the difference by combining like terms.
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Try It!
Find the sum or difference.
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Assignment
New: Pgs. 557 - 558 #4 - 34 (evens), 38

Review:

Simplify.
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